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Problem set 1(25pt)

The signal x(t) is given on the Figure 1. below. Find and plot y(¢), which is
defined as follows. (x is the convolution operator).
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y(t) = =(t)



Problem set 2(20pt)

Find the exponential Fourier series(Calculate coefficients D,) of z(t) =
| sin(t)|. Hint: Plot the signal first!

03mg3bgm 9dudmbgbioomy®mo ggdog F3M030 (3Mgxn0309bEgd0 D, ) Logbomol-
®3oLb z(t) = | sin(t)|(Bomomgos: oboBgm Logbowo)

Problem set 3(20pt)

Find the Fourier transform of the following signal using ONLY Fourier transform
properties and Table pairs.

0303bgom g39®0g goMoJdbs J3gdmom dmygoboemo LogbomolLmgol. godmoyy-
bgo IBmmmE gyMog 3oMmEsddbol gbMomgoo s mgoligogdol gbGowmo.

x(t) = [te™* sin(4t)]u(t)

Problem set 4(35pt).

Find the Fourier transform of the following signal:
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